
adding subtracting multiplying dividing

1a)  
−5
6

+
4
6

=__________ 

 

1b) 
1
2
−
2
3

=__________ 1c) 
5
6
•
4
5

=__________ 1d) 
1
2
÷
−3
8

=__________

2a) 
2
3
+
−1
6

=__________ 2b) 
−5
6

− −
3
5

=__________ 2c) 
−9
2

•
6
4

=__________ 2d) 
−4
12

÷
1
−8

= __________

3a) 1 3
4
+ 2 1

3
=__________ 3b) 

1
3
− −

1
2

=__________ 3c) 
−6
2

•
−5
4

= __________ 3d) 
3
2
÷
7
5

=__________

4a) 
−1
2

+
−3
5

=__________ 4b) 
−1
6

−
1
2

=__________  4c) 
1
2
•
−6
3

=__________ 4d) 
3
−2

÷
−3
5

=__________

Rationals Test simplify all answers
Name:_____________________________________!! ! ! Try:     1     2      3! ! ! ! ! Period:

grading box 
overall score ______________________/16

adding a) ____________/4!! sub b)______________/4!                multiply c)___________/4!     divide d)_____________/4


